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1. Calculate the molar mass in grams of each of the following:

a. Na b. Br;

2244 65 ol 154.© 4/ mol
C. CaClz d. C2H5OH
10.4% glmol 40 0 9 [mol

2. Calculate the number of moles of atoms in:

a. 23 g of sodium b. 64 gof sulfur 2 wol S
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c. 7 grams of iron 0.\3 ol F" d. 20 gkrypton | 24 MD& K
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3. State the number of moles in;
a  585g sodumchloride | o\ b 50gofCaCO; . 50 w0l CalD3y
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5® Sq RaClf| mo\ Netl 7"-’ 3
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c. 499 g of CuSOy 3 A3 wol ¢ 303g of Potassium Nitrate 3 ol K ,.503
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4. Given Avogadro’s Number 6 x 107, calculate the number of atoms in:
a. 48 g of Magnesium b. 336 g of iron

24
\«\QHDMatoms Mg 3.LIXID  odtms o

5. Calculate the mass of the following samples:
a. 5 mol sodium chloride b. 50 mol of CaCO;
5 w0l Rotl] 58 4% 9 rot) _5_2*"(’\! loo.ijﬁ Col0g
“ mol h w0l
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c. 43 mol of CuSOy4 d. 3.03 x 10° mol of Potassium Nitrate
3.03x\0 : ynol Pm- | g9
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Nag) + 3Hz) > 2NHsg

1. How many moles of hydrogen are needed to react completely with two moles of nitrogen?

7 waoh 2 |Z2mol th
| wioh T2 © ol Hy

2. How many grams of hydrogen are necessary to react completely with 50g of nitrogen, and how
much ammonia will be produced?

118 wod I3 mol Hy  5-34 wiol M| 2:029
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Limiting Reactants Practice
1. Forty grams of magnesium is reacted with an excess of oxygen. How much oxygen is used in the

reaction? 9 M% & O'L 4 ZMSO

VWS ol

2. Ina container, 100 grams of iron is combined with 100 grams of oxygen to form iron (II) oxide.

a. How much iron (II) oxide is produced?
ke + 0, =L, D
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b. Which element is the limiting reactant? F(;

¢. How much of the excess reactant does not react?

114 o) Fe|lmol Oz BAS ol 021324 02 . 354,
Zwol e o \ wol Oz osed
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3. Seventy grams of silver are allowed to react with 50 grams of bromine to form silver bromide, a

compound found in eyeglass lenses. LN
a. How much silver bromide is produced.?' t %V‘L 2 MBY

% 10 3 AQ]“!MO\ Aﬁ .o%4 ol P‘ﬂ\?— ol M&Y A mol A%Br
01819 Ay | 2wol Aq

S0 g Bry |l mol Bry 313 ol B |2 mol Aolr E .ol mo\ Pojﬁr

1A% 3 Br’). 1 vnol 3(,_
. 313 mol E""LE 2 mo\ Ag VT ol M\ Used I \len a Agq
ol - \ mot
b. Which element is the limiting reactant? %V 2 VS
c. How much of the excess reactant does not rc_:ja‘ct?
10"‘91-533 % 7.4 a M not ftOtC‘\‘(é)
%;— 4. In a container, 30 grams of potassium is combined with 25 grams of nifrogen and potassium
A itride is fq d. P
N rla.e llioigfuch potassium nitride is formed? \9 ‘L * f“\’L z K%N
e
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b. What is the limiting reactant? K

c. How much of the excess reactant remains?
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Predicting Products Practice
Complete the following word equations and then write a balanced molecular equation.
Identify the reaction type to the left of the arrow. If no reaction is to take place write NR after the yield
arrow.

: 52. 1. Lead + mercury (II) sulfate =
Pb %ZHSSO.‘. —> Pb(SOI()z T 2H

O?— 2. Copper (II) sulfate + lead (II) nitrate =

Cu S04 (aq) ¥+ Pb(t\\o‘g)-&_(\a&c“)_m5 P\)Soq-(g) T Qu0y) 2o

Og‘ 3. Lead (II) nitrate + potassium iodide ->

Pb(N03) ,(aq) + 2 Kl(aq) T2 MOzaiyt  PLT. (s

6@‘ 4. Sodium + magnesium phosphate =

o M%@C@L 2 o004 t 3M(5

39_ 5. Zinc chlorate + magnesium >

C ?—V‘Q\ng t Mf) — \\Ao)@»\Os),_ t Zn

DR 6. Barium chioride + sulfuric acid =

Bo A, (9) t WS04 @q)“ﬁ 2H el (0q) + ?JOLSOa\f (s)

Dl 7. Barium chloride + nitric acid =

ROz (aq)t RRO;(aq) ™7 NR

SQ’ 8. Zinc + magnesium hypochlorite >

Zn 4 Ma@,xo)f” ~NR

D@_ 9. Calcium chloride + silver nitrate =

Callaf ZAgRO36qy 77 ZAg0LGs) ¥ Calr03),teq)

32‘ 10.  Gold (III) nitrate + silver >

Ple0s), + 3Aq = 3hqro3 ¥ A



Name Date Period

Stoichiometry Ws # 2: Stoichiometric Conversions

1. Copper I oxide solid is produced in a combination reaction with solid copper and oxygen gas
a. Write a balanced chemical equation for this reaction.

L2 40 ¥ O ™ 20,0

b. How many moles of copper are needed to produce 13 moles of copper I oxide?

13 4 \ T
WVU\"Q&T@'!Z ol Cas 20U ol w)

c. How many moles of copper I oxide would be produced if only .25 Ticles of oxygen were available?

+2S waol 022 wol 1,0 ["é ol Cua.Oj

\ wol Oq, P
d. You produced 11.7 grams of copper I oxide. How many grams of oxygen did you need? i, %\

"1 4 &J.ZO“MA_LQM :,O DB2 ol \\ mol Oz 04 mo\ 0, ‘i
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mol w0
2. IronIII oxide will decompog e pr‘esence of hydrogen gas i%d heat to progﬁce free iron and water.
a. Write a balanced equation for the reaction.

Feo 03 +3H, H&E 50 1an,0

b. What mass of iron is produced when 450.0 grams of iron IIT oxide decomposes?
"t‘SC) q&?- i‘&tno\ £¢304 251 vol Ftlg_jl ol Co S .04 ol Fl S5 854 .94

1o mol R | 5 =3
¢. How many rittles of hydrogen gas are needed t pr‘oduce 90 O gmms of iron?

A0a G limol & Lol mol K| \ H r j
25054k i ol T A2 wol H

d. How mcmy grams of water will be produced when .01 moles of iron ITI oxide decomposes?

. Ol mol Rzog’%hgg‘ Hoo O3wmol HaDig.024 Hao [V Ho O
wol fe 203 [ vnot Bo0 Sy M2

3. Solid calcium combines with oxygen gas to form solid calcium oxide.
a. Write a balanced equation for the reaction,

2@0,, T O')_ "““"*M

b. How many moles of calcium oxide would be produced if only .33 moles of oxygen were available?

BB mo\ 02 Z wol LoD |
2 7%\ YhDDi O“;: X- WY Mol C&‘Q_J

c. If 4.5 grams of oxygen were used, how many grams of calcium are needed for the reaction to go o
completion?

45 Oull mol 02 4l ol Oy ool Cor - 26wl L] 40.0BA
1324 0, I wo O, ot Co

\3\.603 Coo




4. The combustion of butane gas is used in many hand held lighters
a. Write a balanced chemical equation for the reaction.

2 Csto +130, —>BC0O, *IOWN20

b. How many moles of oxygen are required to burn 4.8 moles of butane

4.8 mol Catho i]?a mol D1 L s
Zmol CaHiwo 31.2Z mol O')

c. How many grams of CO; are produced when 88g of O; react with an excess of butane?

W% 1.0 ot C02| 44-014¢0, \’M*.%@ CO,
15290, Bmol 0z Lot €04 9)

6 Sodium Chloride can be split into its elements by electrolosis.
a. Write a balanced chemical equation for this reaction.

2R a0\ —> 2N + Cly

b. How many moles of chlorine gas are produced wh en 40.0g of salt is split by electrolosis?

40, MC\‘“ .LBA Mot LU\ ol Clg ( 347 vol Cj}J

28 4% 9 NoC) Zwndt NaC
¢. How many moles of sodium is produced when 5 moles of NaCl is split?
S ol ol 2 ol N T

V2 Wl Nacy Smol No \

7. The complete combustion of liquid ethanol, C;HsOH, is used in alcohol burners.
a. Write a balanced chemical equation for this reaction.

CaHgOR +30, —2200, * Gu3H, O

b. How many grams of water are produced in the complete combustion of 100.0 grams of ethanol?

‘°°a 7 %_Oﬁl‘ mol C2HsOR 2 1ol czﬂsom ot HeO 051 mot Hy0]18.02
"p.08 4 CoHsON Fivol CoHg DR 5‘**\9%.‘__.1—%{-—
c. Inthe completecombustion of ethanol, how many moles of oxygen are necessary to produce 18 \E’ib

moles of carbon dioxide?

1% mot CO-,_%_?, mol 02 (Lj ol Oa
Z mol CD;y

d. Inthe complete combustion of ethanol, how many grams of carbon dioxide are produced when 1.2
moles of water is produced?

1-2 wmol th0]Zmot €02 0.Bwol C02] aq iaco,
13m0t Wy [\ mot €0+

8. Aqueous solutions of barium nitrate and ammonium carbonate react in a double replacement reaction:
a. Predict the products and write the balanced equation for the reaction.

MNO;)LLWQ *’(N&'\QOOg } — B&CO +7¥NH‘\'NO3(0¢0
b. How many moles of ammonium nitrate wall be produced form 110.0 grams of ammomum carbona‘re’
o Oq(n v\), CO3 %\Y\O‘&NM £Dy 1A% wol (nug), €0y 12 ot NU4N02 |2 28 wo!
.14 o (QHa) L0 (V ol (b)Y,

¢. How many moles of bar‘xum carbonate wo?ﬂd be produced from 6 moles of ammonium carbonate?

Umol (WKL), CO3)\ not Ba.co
> : \wo (NP4 .0 UD ol %QC-OY

Y d. How many grams of barium nitrate are neej' d to r'eacf with 220.0 grams of ammonium carbonate?

2.24 wiol (A¥4), (D3]l waol B D3
I\ mo\(*We), (03
| 451.41 4 BalDa)




